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SYDNEY BOYS HIGH SCHOOL

PRELIMINARY MATHEMATICS

Half Yearly Examination 2001

Time Allowed: 1 hour (plus 5 minutes reading time)

Total Marks: 60

Examiner: Mr P Bigelow

INSTRUCTIONS:

Attempt al/ questions.
All quesﬁons are of equal value.

All necessary working should be shown in every question. Full marks may not be awarded if
work is careless or badly arranged.

Approved calculators may be used.

Return your answers in 5 booklets, 1 for each question. Eachbooklet must show your name.

If required, 'a&diﬁonal Writing Booklets may be obtained from the Examination Supervisor upon
request.
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Question One [13 marks]
(2

o

Express 0-00639 in scientific notation.

(b)  Use a calculator to evaluate —
9:-6x5-3
(c)  Simplify 6] 2x? +3x% -
.. 4a+8
(1) 2
@  Simplify ()  V7x37
Gi) /90 -+40
(e) If F= —z—C +32 Find (i) Fwhen C=20
(ii) C when F=113
(f)  Factorise ® a’® - 64
(ii) y?-5y-14
(2) Expand then simplify (4c—1)(2¢c —3)

()

Write down the value of a if x> —22x +a is a perfect square.

correct to 2 decimal places.




Question Two ~ [12 marks]

(2)

(b)

(©)

(d

(e)

®

(2

How many zeros are significant in 0-04077

Evaluate ~ 3-[4-5-2

Write down the exact values of

(i) sin 60°
.. Sx
11 tan—

(1) 3

Write O- 041 as a fraction in simplest form.

T . ;15
Given the set 2 .0°8,5in30°,—,3%%

6 277
@) Which numbers are rational?

(i)  Write the numbers in ascending order of magnitude.

4 . . . .
Express —~ with a rational denominator in simplest form.

3J6

Solve (1) 14-3x<x-2.

(i)  2x(x+4)20




Question Three ~ [11 marks]

(@ Expand then simplify
@ (B+1)?
() (V5 -3)2V5+43)

(b) Factorise )

2x—-6y—xy+3y

2

(i) 6a’ —7a-10

(c)
15

(d

find a by forming
then solving an equation. (Express your answer
correct to 1 decimal place)

evaluate x and y

(e) Evaluate a +b if —Z— =-]

) If S % write down the value

x+1

of L
x—1




Question Four - [12 marks]

(a) Solve (i) ,1 - a] =4

=

(i) a*=2q

(b) How many sides has a regular polygon if each interior angle is 168°?

(©

- Find y
2
(@  Simpliy ¢
secd
(e Solve the simultaneous equations
3x+2y-10=0
4x+3y-13=0
® Find the area of the triangle
Sem
30°

6cm
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Question Five [12 marks]

(2)

Find the size of the smallest angle in the triangle (to the nearest degree)

(b)  Express as a single fraction in simplest form

)
5x 4

x*—16 x+4

©) 4 In the diagram
PO=0QR=RS§S=8

| and ST =2
*X s

Find the length of QX

@ (@)  Expand (a+b)’ F -

. . 1 1
(i)  Given that x+—=-1 evaluate x’ +—
x x
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